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, . { 240 . 400 | 50 | 50 1
R 14 Bri 26/52 | 0603 |\ 240 | 1000 : 200 . 300 32 2
UE 2 ' Oxt 2 |50 0,2 250 120 1
50 NG | Low 3 |50 0,15 150 25 1
50 AX 6-G | amer 4 |50 0,3 350 1250 | 250 , 600 | 145 40 3
50 X 61) amer | 5 |50 | 015 |
50 Y 6G) | amer 4+ 50 ods } 235 | 700 75 450 0 100 16 1
117 65 15 16 2
50 Y7 " amer 6 |50 015 150 65 40 16 1
‘ 235 700 65 450 | 100 16 1
50 Z 6-G Syl 4 |50 0,3 235 250 \ 3
1) vide 25 X 6 gr. 40 2) vide gr. 39
Equivalents
PZ 30 Mul =R 14 |50 Y 6-GT amer = 50 Y 6-G 50 Z 6-GT
50 AX 6-GT amer = 50 AX 6-G | 50 Y 7-GT amer =50 Y7 50 Z 7-GT
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